]
| R VPP PPN

46

from RefBinaryTree import RefBinaryTree

class RefBin .
def _in def main():

selfd treel = RefBinaryTree(3)
treel.insert_right(7)

selfll
selfr tree = RefBinaryTree(9, treel)
tree.insert_right(2)
tree.insert_right(6)
from RefBin print(tree)
def main(): main()

he RefBinaryTree
vrite the code
creates the tree

e —(9)

tree = RefBinaryTree(9)
tree.insert_left(3)

tree.insert_right(6)

tree.get_left_subtree().insert_right(7)
tree.get_right_subtree().insert_right(2)
print(tree)

main()

9---+

(1) 3---+

(r) T---+
(xr) 6---+

(xr) 2---+




